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SECTION B
Answer ALL questions. Write your answers in the spaces provided.

Adam works for an agency.
His normal hourly rate is £8.32

The agency asks Adam to work 6 hours for a new company.
Adam will be paid time and a third of his normal hourly rate.

[
How much will Adam get paid in total when working for the new company?

| +3)X8.32 %6

1 + 1/3 works out the fraction of his normal hourly rate he is
paid. Multiplying this by his normal hourly rate works out his

wage at the new company. Multiplying this by the 6 hours works
out the total he is paid when working for the new company

(3)

: 66.56

(Total for Question 1 is 3 marks)

.CG Maths.

<
25

09%0S
o5
e

<
0%

G0
bt
3
dasels
55
5

GO0
8K
(R
bot
R
R

-
KX
%
oo

6K,

XA

L
o
S

o
e
ks
5t
R

55

L

(>
e
PR
AN~
ER

L
oot

9

oomniss
=

ofolelele!

e
et
s = i

0ot

o dolede!
‘gf’&f)’b "
IS
PO

0
2
bogess
‘q"o‘ T
‘:’:
X

OO
$00RKS
5000055
X X
ORI
ololeletele!

poant
Jostele;

ol
R

IR
R

o%
e

<
%!
25 25
E oot
00‘0’0&0‘0‘

S
X
%

%
<

85
AL
e = %

Ils s o3t
Plod-rroled
peteveode!

OO0
’00‘3?;:&?"" A

0@““%5"’

eleleleels

Sotetetotedete%e!
SRR
G530
G0N
bogsetenstoset

o
%
5
%
s

%
X
<

X

\’:0:0
XK
osese;

SRR

000
2
Joososes
393535
0
o

o

2
bole

0060096909,
ORI,
[0SR
Jo SR
IR
KKK

Py <
iLe%
L re
:. D‘&’

K
S
50050
geotetoss
QKL

ofetelelels!

<
5%
55
55
%S

OO0
23 %e%!
e
XX AKX
SR
ARG

%
X
R

)

9.0,

%
%

5 ’z.:
otet

%
0,‘0:0{

ORI

SIS
RS
SRS
Soetoreletetotote!

X
<X

S
S
%0555

IR
ot tetasateles
S aeesetetetetetes \
Jasssesssotsetosetetetete! ¥
plotetotetotetetotetotetss

%

KO
2
,%:"

%
9%

SRS
SRS
bols
K5

0"::0
b
&5
020

553
X
R

R I KA
B

xh)

XK

A
N
SR
atatice
RS

%
%

e
o
boto ey

o
2%%
T

1
e

O
petetoreteletoret
URITE
AL RTLIE % et
pivibonisstivelel

CAIHHIARA
SBLISLLLS
R RN L
YO N
Socoriteetsiotete
TR tetetee!

<50
oSodel

Sodet

S A
SR

<5
botet
bele)
255
botes

%
%

‘0’:
5
5

<
<

RN
S
SRS
R AK AR
SERESI3ES
Sotetoletetetotede

O
S
doSetedete!
0’0’0‘&0
SR
Sotetotevet

09 900,
RIS
COSXRS
s
SRS

K
0525
AR
FARXE
SN

KK
X X
X XX
.‘.:,
o5sees

,

X
s

e

S —
‘0:: [
foger 1Ze7e%e
O
s

&

%%

el
%

S

%

S
b
SN
@
o

o
58
5

b ,

%
5
<
&

AR
33833888
ogogatesatesese:

natatetes:
Boatotetitelets
SIESES

O
0%
5
X
55

s

2
<
o
&



X
so0e
e
3535
boted

PSP IS ISR
RN
SIS
SRR
IRIEL

2%

9%
s
V&b

050505 % %%
eterasetees
NCOA
PN
raeeeetereel

LK
oSSR
fe
i
v

%
<
58
{
Vel
RS

35
%

ot
2

S tea 3t
S
< g,
SSLTES
RIS
S rav

pra

0:00
3

%4
.gaﬂgt
DO
OSENee T X
@%@po o

<
S5

03

e

o
%

< o0
Bt tetel
\
F
S

e
<5
o

255
3@90
<

besstese
<
X
b0

0200000000000 %020 2020 %%
o0l
it
55

255
é’
039

0202020 0 0%
G oﬁwwo
SR
SRR

X
1003
0
XXX
pasetele!

2
Begeste
QRS
K
5%

LXK,
besatetel
55
355

R

XTH A
S

'
O e%%
Sgedotelele

o
25
oS
0ot

o2

&&?
gg&
L

o%
52
el
%
g%

%
25
R
0205000]

%
e%

%
8
%
%%
o%

1505
X
oy rees
S
LA

O
so0e
e
3535
R

X R XXX XXX

s,
PRSI
BN
SRR

bt
)0
a§¢ 00
s
o
S
s

o
o
RS

o
ONO
S

GO0
SRR
2%

&%
s
<A
%
CRERR

9!
D)
@'

e
R
oo ates

QA

IS
-
10000

255
255
5
0%
$%

55K
R
s
SRS

<
%X
<5
%

%

O
S
Sotedes
d*%
dSotete!
Stedes

‘Dsg
X
2
%
(0000

6
bo3es
{555
355

<
fotetetototetese!
55

%
<

2

A
e

%

-
ek
e

<X
>
!

Y,

%

4

2358
2

0-% N
X!

ot

KA
SRR
s
(2%

%
%
[
b
K

<

%
%
Arﬁp
8

"0

P

AL
ofedeletetolotetetets
FESINSEH
Hoat R S
ootoloh:ly;

9%
o
5
O
%
%

"
v}
o

<
<55
'
o
byl
<5

<
b2l
Forete!
R
A
SRR

%

A
LRI
0%%%} &2

i

o
%o

KR
XA

AR RKK

S

<
NN
K
ode!

%
%
5

&
5o

%
5
o |
go%ss ¥
<

X2
<

o
T
[J

%
%
25

6
35
2525

X
et
QK

<
S
<%
beaseetetels
SIRHRLSS

O
3%
So%s
5
o20%0e!

<

00
5

btes
Soses
55

%

SRS
et
28
2L
S

‘8’00
KRS
S

I
e et etetetetets
PRAE
SHLRS

X
055

xj

00

ﬁ%&ﬁ?
<)
A
Sl

r

2 Hereis a square based pyramid.

12.6cm

Volume of pyramid = 5 x area of base X height

W=

XX

Area of base. The base is a square so its
area can be worked out by multiplying
together the length and width

AN

Work out the volume of this pyramid.

EX8.5X8.5X[2.6 .

303.4S

(Total for Question 2 is 3 marks)
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r

3 Rana donated to 4 charities last year.

She gave £175 to each of these charities.

This year Rana wants to donate the same total amount between 6 charities.
Each charity will receive an equal amount.

-
(@) How much will each charity receive this year?

|75 X &
6

Multiplying the £175 by the 4 charities works out how much

the total amount donated last year was. Dividing this by the
6 charities works out how much each will get this year

The 116.66666... is rounded to the nearest penny

(3)

£ [16.67

-
(b) Use reverse calculations to check your answer.

[16.6X6
X6 _ |75

(Total for Question 3 is 4 marks)
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s S Here is a section of a roof made from straight pieces of wood.

LS SRS, 12 45
The angle in an equilateral triangle is Angle BDC must be the 1 425
60° as all of the angles are equal and same as angle BDA as -

there are 180° in a triangle. 180/3 = 60 DB is a line of symmetry 10 40
o v

X 9 37
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i 8 33.75
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= 7 30
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Soen e . Angle BCD must 4 185

SR SR Samir knows that ,

SIS B alsobexas DB is a 3 14

B 888K : , . . line of

SRS SR8 « the shaded triangle is an equilateral triangle Ine of symmetry

S S : PR 2 9.5

RS S « theline DBis a line of symmetry :
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S S e theline is a straight line 1 45
s « the size of the angle marked x° indicates the pitch of the roof. 0 0
QL SRS
o The table shows information about the pitch and angle of a roof.
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Samir wants to work out the cost of the tiles needed to replace a roof.

The roof has 4 identical faces.

Each face is a triangle.

Each triangle has a base length of 7.6 m and a height of 4.8 m.

Samir has this information.

1 pack of tiles covers 13.8 m? (including overlaps)
each pack costs £716.10

roof tiles

Samir can only buy whole packs of these tiles.

X SX7.6X4.8

3.8

Calculate the total cost of the tiles for the 4 faces of this roof.

Area of triangle = 1/2 x base x height. The base of each triangle
is 7.6m and the height is 4.8m. Multiplying the area of one of
the triangles by 4 works out the area of the whole roof. Dividing
this by the 13.8m”works out how many packs of tiles are needed

6X716.10 «

The 5.2.. packs is rounded up to 6 as there need to be a whole
number of packs and 5 wouldn't be enough. Multiplying this
by the cost of each pack works out the total cost of the tiles

.CG Maths.
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Farah is buying clothes from a website.
The website shows this information about a jacket Farah wants to buy.

Jacket

original price £30.99
sale price £16

The website claims this is a saving of 46%.

-
Is the sale price a saving of 46% on the original price?

Show why you think this.

20.99 X 'O%E)% = 16.73

Percentage is out of 100 so subtracting 469 from 100% works out

the percentage it reduces to. Dividing this by 100 converts it into a
fraction which when the £30.99 is multiplied by it reduced it by 46%

When reduced by 46% the price
is £16.73. Thisis not £16

(3)

O

(Total for Question 6 is 3 marks)

.CG Maths.
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7 Hereis a quadrilateral.

Every 40m is 1cm on the grid so
dividing each measurement by 40
works out how many centimetres
it should be on the grid

340m
8.5

s

\

(@) Draw this shape on the grid.
Use the scale 1Tcm to 40 m.

Tcm

T1cm

(2)

(b) Use your answer to part (a) to work out the actual length of the line AD.
Remember to use the grid and the scale.

SX40

(2)

AD is 5cm on the grid as measured with a ruler.

As every centimetre represents 40m, multiplying
the 5 by 40 works out the actual distance

200 m

(Total for Question 7 is 4 marks)
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8 Pablo is investigating the relationship between the land area and the population of
8 European countries.

He has this information.

Country

Land area Populationin 2018
(1000km?) (millions)

Germany

360 83

Greece

130 11

Italy

300 58

Poland

310 39

Spain

510 47

France

640 67

Romania

240 19

United Kingdom

Pablo knows
1 square mile = 2.6 km?

Pablo finds out that the United Kingdom's

land area is 93400 square miles

population in 2011 was 56.1 million

population increased by 19.6% between 2011 and 2018

He wants to add this information to the table above.
He will round the land area to the nearest 10000 and round the population to the
nearest million.

~

Draw a suitable graph and write a comment about the correlation.
Remember to complete the table and use the grid to draw your graph.

73400X2.6
o4 | x 100+15.6

16]0)

(6)

Each square mile is 2.6km* so multiplying the 93400 by 2.6
converts it into km? 242840 is 240000 to the nearest 10000

Y
100 + 19.6 works out the percentage of the population in 2011 the

population in 2018 increases to. Dividing this by 100 converts it into
a fraction which when multiplied by it increases the population in 2011
by 19.6%. 67.0... million rounds to 67 million to the nearest million
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9 Magda wants to compare the population density of the two largest countries in
the world.

She can use this formula.

P

K=5%0m

K = population density (people per km?)
P = population (millions)

M = land area (million square miles)

Canada has a population density of 3.57 people per km?

Russia has
« apopulation of 143.96 million
« aland area of 6.593 million square miles.

Magda thinks that Russia has a greater population density than Canada.

-
Is Magda correct?

Show why you think this.

143,96  _
2.59><6.593’8‘LF

The population density of Russia is 8.4 people per km’,
which is more than the 3.7 people per km” of Canada

ves

(Total for Question 9 is 3 marks)
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11 Emilio makes metal fences.
He is making a fence using this design.

1.44m

A
\

1.8m

The fence will need

» 3 horizontal metal pieces of length 1.8 m

« 2 tall metal pieces of length 1.44m

e 5 medium metal pieces

e 6 short metal pieces as shown on the diagram.

The heights of the tall, medium and short metal pieces are in the ratio 9:8:7

-
How many metres of metal in total does Emilio need to make the fence?

18X 34 L4 4x2 + 15 X XS+ 1 xTX6

The total length of the 2 tall
metal pieces of length 1.44 m

XX
The total length of the 3 horizontal
metal pieces of length 1.8m

SN

The total length of the 5 medium metal pieces.
Dividing the length of the tall metal pieces by 9 works
out what 1 part of the ratio is worth. Multiplying this
by 8 works out what 8 parts are worth, which
represents the length of the medium metal pieces

Adding together the total lengths of all the different types

of metal pieces works out the total length of metal needed

(5)

XX

D
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(Total for Question 11 is 5 marks)
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